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* TrAAUY BEE . IINBERE
A B 17 5 & 1% i
1858 = 10:00 ~ 1545 BRIREZE (Kh—)UIRER)
18198 = 10:00 ~ 1415 BRIRZEE (Kih—)UIR5R)
M A258 T 17:30 ~ 19:00 B1igE=
2898 B8 10:00 ~ 1545 H1igE=
28234 =] 10:.00 ~ 1545 FRIREE (KI—)UiE5RE)
38208 PN 10:00 ~ 1545 BRIRZEE (KR—)UIR5R)
38238 =] 10:.00 ~ 1545 B1igE=
D NEEOHDZHETT.
* TrpAaFUY B88E . WBHU3%EE
A = 17 5 & 1% il
18128 = 13:.00 ~ 17:00 F3FE=E (VR —)URITR)
18268 = 13.00 ~ 17:00 FIRE=E (UNR—)UIRHT)
2898 = 13:.00 ~ 17:00 F3FE=E (NVIR—)URHTR)
28168 = 13.00 ~ 17:00 FEIRE=E (UNIR—)UIRHT)
3898 = 13.00 ~ 17:00 F3FE=E (VIR —)URHTR)
38233 = 13:00 ~ 17:00 F2ARE=E
* TJ475 BEE . BAT&%E
A B 17 5 & 1% i
18198 = 1210 ~ 13:00 B2ARBE
2828 B8 1210 ~ 13:00 FB2iFE=E
2898 = 1210 ~ 13:00 BARBE
28168 B8 1210 ~ 13:00 FB2igE=E
38164 = 1210 ~ 13:00 FB2ARBE
38238 B8 1210 ~ 13:00 FB2igE=E
wx Fzx0O 1885 : hEOIREE
A = 17 5 & 1% i
18118 T 10:30 ~ 1400 FB2FE=E
18258 T 10:30 ~ 14.00 F2FE=E
2818 T 10:30 ~ 1400 FB2iFE=E
288H T 10:30 ~ 14.00 F2FE=E
3818 T 10:30 ~ 1400 FB2FE=E
38228 T 10:30 ~ 14.00 F2FE=E
Y IDYVESNR B88E . EMERSE
A = 17 5 & 1% P
18138 A-#&| 1000 ~ 11:00 F2iFE=E
1818H T 10:00 ~ 11:00 FB2iFE=E
28158 T 10:00 ~ 11:00 F2iFE=E
28224 T 10:00 ~ 11:00 FB2iFE=E
3888 T 10:00 ~ 11:00 F2iFE=E
3822H T 10:00 ~ 11:00 H1igEB=




